

BID BULLETIN NO. 02

Date:

31 July 2023

ITB No.:

bac-23-0714c

Project Name:

Supply and Delivery of Various Veterinary Drugs,

Medicines and Supplies - Veterinary Services Department

ABC: Php3,332,000.00

To all prospective bidders:

This Bid Bulletin is issued to clarify, supplement, modify and/or revise the particular sections in the Bid and Contract Documents as stipulated in the Bidding Documents issued on 14 July 2023. The Bidders shall take note of the following items carefully and consider them in the preparation of their bid proposals, as they shall form part of the CONTRACT DOCUMENTS.

Item	Previous Specification/ Clarification/Request to Consider	Amendment/Response to Clarification		
1	PREVIOUS SECTION I. INVITATION TO BID	AMENDMENT TO SECTION I. INVITATION TO BID		
	1. The CITY GOVERNMENT OF PASIG, through the Executive BudgetCY 2023 intends to apply the sum of Three Million Three Hundred Thirty-Two Thousand Pesos Only (Php 3,332,000.00) being the ABC to payments under the contract for the Supply and Delivery of Various Veterinary Drugs, Medicines and Supplies - Veterinary Services Department. Bids received in excess of the ABC for each lot shall be automatically rejected at bid opening.	PASIG, through the Executive BudgetCY 2023 intends to apply the sum of Three Million Three Hundred Twenty-Four Thousand Five Hundred Pesos Only (Php 3,324,500.00) being the ABC to payments under the contract for the Supply and Delivery of Various		

ITEM	DESCRIPTION	ABC (PHP)
NO.		
LOT 1		3,187,500.00
1	Xylazine,	
	Hydrochloride	<u>ř</u> .
3	TILETAMINE	
3	Atropine	
	Sulfate,	
4	Epinephrine	
	1mg/1ml	
5	AMOXICILLIN	
	15%	
6	Marbofloxacin	
7	ENROFLOXACIN	
8	Trimetoprim	
	Sulfamethoxyp	
	yridazine	
9	PREDNISOLONE	
	10 mg/ml 100	
	ml	
10	B-COMPLEX	
	w/LIVER	1 1
	EXTRACT INJ	
11	Calcium	
40	BoroGluconate	
12	IVERMECTIN	**
4.5	INJ	
13	PRAZIQUANTEL	
	+ PYRANTEL	
4.4	PAMO-ATE	
14	DEXTROSE 5% LACTOSE	
	RINGER's	
	The second secon	
15	SOLUTION 1L SYRINGES 3 ML	
	Examination	
16	Gloves Latex	
17		
17	Cotton Roll GAUZE PADS	
18	SURGICAL TAPE	-
19	1"	
20	Hair Net	
20 21	SURGICAL	
21	DRAPES	
22	Disposable	
22		
22	Underpads Povidone Iodine	
23		
24		
25	SPRAY	
25	70% Isopropyl	
26	Alcohol	. 40
26	Doxycycline	144 500 00
LOT 2	LEACH MITTH	144,500.00
27	LEASH WITH	
	COLLAR SET	

ITEM	DESCRIPTION	ABC (PHP)
NO.		3,180,000.00
1	Xylazine,	3/100/000100
-	Hydrochloride	
2	TILETAMINE	
3	Atropine	
	Sulfate,	
4	Epinephrine	
	1mg/1ml	
5	AMOXICILLIN 15%	
6	Marbofloxacin	
7	ENROFLOXACIN	
8	Trimetoprim	
	Sulfamethoxyp	
	yridazine	
9	Dexamethaso	
	ne 2mg/ml,	
	100 ml with	
10	CPR D. COMPLEY	
10	B-COMPLEX w/LIVER	
	EXTRACT INJ	
11	Calcium	
	BoroGluconate	
12	IVERMECTIN	
	INJ	
13	PRAZIQUANTEL	
	+ PYRANTEL	
14	PAMO-ATE DEXTROSE 5%	
14	LACTOSE 5%	
	RINGER's	
	sOLUTION 1L	
15	SYRINGES 3 ML	
16	Examination	
	Gloves Latex	
17	Cotton Roll	
18	GAUZE PADS	
19	SURGICAL TAPE	
20	Hair Net	
21	SURGICAL	
	DRAPES	
22	Disposable	
	Underpads	
23	Povidone Iodine	
24	PET WOUND	
	SPRAY	
25	70% Isopropyl	
26	Alcohol Doxycycline	
20	Syrup	
	100mg/5ml	
	w/ CPR	
- Lance Commission of the Comm	And the second s	

		D: 1.1		LOT		144 500 00	
	1	Disposable	\$1	LOT 2	LEASH WITH	144,500.00	
		Razor PET HAIR		27	COLLAR SET		
	1	CLIPPER		28	Disposable		
		Pet Clipper	1	20	Razor		
	A A	Blades		29	PET HAIR		
		Digital Weighing			CLIPPER		
		Scale	Ş _e	30	Pet Clipper		
		TOTAL	3,332,000.00		Blades		
		XXX XXX X	XX	31	Digital Weighing Scale		
			1		TOTAL 3,324,500.0		
					XXX XXX X	ΚΧΧ	
2	PREVIO	US SEC	TION II.	AMEN	IDMENT TO	SECTION II.	
	INSTRU	CTION TO BI	DDERS	INST	INSTRUCTION TO BIDDERS		
	21101110	XXX XXX X			XXX XXX X	ΧΧΧ	
		AAA AAA A	**		*** ***		
	o FUND	TRIC TRICTOLINA	TAIT.	2 511	O FUNDING INCTRUMENT		
	2. FUNL	DING INSTRUME	IN I	2. FUNDING INSTRUMENT			
				D. 4. The COD Heavest Heavest			
	2.1. The GOP through the source of funding as indicated below						
				of funding as indicated below			
	for Executive Budget CY 2023 in the amount of Three Million Three Hundred Thirty-Two Thousand Pesos Only (Php						
					in the amount of Three		
				Million Three Hundred			
				Twenty-Four Thousand			
		3,332,000.00				ed Pesos Only	
		3,332,000.00) .				
				(Php 3,324,500.00).			
		XXX XXX X	6 2053/85		XXX XXX X		
3	PREVIC	OUS SECTION	VI SCHEDULE			SECTION VI.	
	OF R	EQUIREMENTS	S AND VII	SCHE		EQUIREMENTS	
	TECHN	CAL SPECIFIC	CATIONS	AND SECTION VII. TECHNICAL			
				SPEC	SPECIFICATIONS		
	ITEM	SPECIE	ICATION	ITE	M SPECI	FICATION	
	4	Epinephrine		4		e 1mg/1ml	
	9		NE 10 mg/ml	9	Dexametha		
		100 ml, Injec			2mg/ml,10		
		Pyrabital 10n			CPR		
		Sulpyrin 2mg		13		TEL +	
		Vitamin B1 1			PYRANTEL P		
	11	100ml/ bbl			LEvolvanto		

100ml/btl

+Frebantel,

13

24

PRAZIQUANTEL +

25mg/10mg/ml

PYRANTEL PAMO-ATE,

Suspension, 60ml/btl

Dichlofenthion, 50g/cans

PET WOUND SPRAY,

+Frebantel,

250ml/can

24

26

25mg/10mg/ml

Suspension, 60ml/btl

Chlortetracycline 2g,

PET WOUND SPRAY,

Doxycycline, Syrup

100mg/5ml w/ CPR

	26 Doxycycline, Hyclate, 100mg/ml, 100ml/btl				
4	PREVIOUS ITEMS TO BE BID	AMENDMENT TO ITEMS TO BE BID			
	As reflected in the Bidding Documents uploaded in PhilGEPS	Please refer to "ANNEX A" for the Revised Items to be Bid			
5	ADDENDUM				
	Please see attached Terms of Reference labeled as "ANNEX B"				

Bidders who have already submitted bids are hereby informed that they are allowed to modify or withdraw their bids, if necessary, before the scheduled opening of bid envelopes.

For modifications in your original submitted bid, kindly submit new bidding documents (sealed and marked as "Modified Bid") and have these received at the Office of the Bids and Awards Secretariat. Bid modifications received after the deadline shall not be considered and shall be returned to the bidder unopened.

Conforme:

END-USER REPRESENTATIVE

Signature Over Printed Name

ATTY. JOSEPHINE

LATI-BAGAOISAN;

Chairperson

"ANNEX A"

REVISED ITEMS TO BE BID

TTEM			APPROVE	APPROVED	
ITEM	QTY	UOM	DUNIT	BUDGET FOR THE	DESCRIPTION
NO			PRICE	CONTRACT (PHP)	
			(PHP)	P .	
					LOT 1
1	180	Vial	2,800.00	504,000.00	Xylazine, Hydrochloride
2	180	btl	3,000.00		TILETAMINE
3	50	btl	975.00		Atropine Sulfate,
4	50	amp	150.00	7,500.00	Epinephrine
				\$-	1mg/1ml
5	50	btl	1,200.00		AMOXICILLIN 15%
6	20	btl	5,500.00		Marbofloxacin
7	20	btl	1,700.00	34,000.00	ENROFLOXACIN
8	30	btl	1,700.00	51,000.00	Trimetoprim
	F0	Lil	000.00	4F 000 00	Sulfamethoxypyridazine Dexamethasone
9	50	btl	900.00	45,000.00	2mg/ml,100ml with CPR
10	100		000.00	00 000 00	B-COMPLEX w/LIVER
10	100	btl	900.00	90,000.00	EXTRACT INJ
			600.00	20,000,00	
11	50	btl	600.00		Calcium BoroGluconate
12	100	btl	3,800.00		IVERMECTIN INJ
13	150	btl	800.00	120,000.00	PRAZIQUANTEL +
					PYRANTEL PAMO-ATE
14	3	box	2,200.00	6,600.00	DEXTROSE 5% LACTOSE
					RINGER's sOLUTION 1L
15	65	big box	12,200.00		SYRINGES 3 ML
16	100	box	535.00		Examination Gloves Latex
17	100	roll	250.00		Cotton Roll
18	100	box	150.00	15,000.00	GAUZE PADS
19	100	box	900.00	90,000.00	SURGICAL TAPE 1"
20	3	box	300.00	900.00	Hair Net
21	5	pack	600.00	3,000,00	SURGICAL DRAPES
22	100	pack	250.00		Disposable Underpads
23	10	gallon	1,025.00		Povidone Iodine
			500.00		PET WOUND SPRAY
24	50	can			70% Isopropyl Alcohol
25	100	gal	800.00		Doxycycline Syrup
26	50	btl	800.00	40,000.00	
					100mg/5ml w/ CPR
					LOT 2
27	280	set	250.00	70,000.00	LEASH WITH COLLAR SET
28	3	box	300.00	900.00	Disposable Razor
29	2	unit	20,000.00	40,000.00	PET HAIR CLIPPER
30	6	рс	4,100.00		Pet Clipper Blades
31	2	unit	4,500.00		Digital Weighing Scale
31		unit	TOTAL	3,324,500.00	
			IVIAL	5/52-1/5-0-10-0	

TERMS OF REFERENCE

SUPPLY AND DELIVERY OF VARIOUS VETERINARY DRUGS, MEDICINES AND SUPPLIES

A. Post-Qualification Requirements

- 1. Valid Certificate of Product Registration (CPR) or Certificate of Listing of Identical Drug Product (CLIDP) from Food and Drug Administration (FDA)
 - a. If the supplier is not the manufacturer, certification from the manufacturer that the supplier is an authorized distributor / dealer of the products/items
 - b. If expired, attach receipt of renewal/certificate of renewal and tracking history from FDA e-portal
- 2. Valid License to Operate (LTO)
- 3. Valid Certificate of Distributorship

B. To be Submitted Upon Issuance of Notice of Award (NOA)

- 1. Certificate of Good Manufacturing Practice from FDA
- 2. Batch Release Certificate from FDA, for Vaccines, Toxoids and Immunoglobulins

C. Medicine Viability

Medicines to be delivered must have expiry dates as follows:

1. At least one (1) year from the date of delivery for medicines with shelf life of three (3) years or less; or

Prepared and Submitted By:

EMMA M. SANCHEZ, DVM

City Veterinarian, Veterinary Services Department